[F # %]

*1HH 6HA30H(AH)
AEBPRAYIEE 8:00

R*FELS 8:50 (U-12(X11:20) AERAT

FFfE F—L4 it Bk F—L4 =¥
1 9:30 |U-10®%FFz')—X 0 x U-10QFEKEFYH—X [ xR
2 10:00 [U-10DEMFFYA—X 1 X U-10Q7)7<KH £ £
3 10:30 |U-10®FFz!)—X 1 X u-10@7 7+ XH b A
4 | 11:.00 [U-10QFKEFYA—X 0 x U-10DEMEFyHh—X AN
5 1200 |U-12 @DFEFz)—X 1 X U-12 QEMEFvH—X | JU | TV
6 1240 |U-12 @FUT«4KH 2 x U-12 @FCViso A K
7 13:20 |U-12 ®FKEFvH—X 1 X U-12 Q&EMEFvH—X E3 E3
8 14:00 |U-12 DFEF)—X 3 x U-12 @774 XKH Viso | Viso
9 14:40 |U-12 @FCViso 0 x U-12 ®FKEFvH—X R xR

%11:30~12:00 BAHA. U-12UPH:E

u-10

u-12

10-5-10

15-5-15

24 F—LwE

u-10

u-12

ORERMEFVH—RXEF QFKEFVH—RX Q@FTUT4+KHE @f-FADLA—ILX @FF1!)—7

DEF)—X QEMEXFYA—IXLF QFJF4KH @FCViso

®iFkExFvH—RX




[F B = ]

“2HHE 7A78(8)
RERAYIES 7:00 REELSFBIHYEEA

s i F—L% Xt B F—LA =¥

1 8:30 |U-10 @f=-FE£AHH—ILX 0 X 5 |u-10 DEMFEFXFYH—X E E

2 9:00 |U-10 @f=FEhrHH—ILX 1 X 3 |u-10 ®FEFIY—X iy )
3 9:30 |U-10 @:FKEFvH—X 8 X 0 |U-10 ®@F)T4XKH =% | =F
4 10.00 |U-10 ®=Fz)—X 0 X 1 |U-10 DEMFEFYH—X ) )

5 10:30 |U-10 @FKEFYH—X 4 X 0 |U-10 @f=FELHH—ILX i g

6 | 11:00 |U-10 @FJT«1+KH 0 X 0 |U-10@r=FEADA—LX | & b

7 1200 |U-12 QFEMFEFvH—X 5 x 0 |U-12 @FCViso 7y | F
8 1240 |U-12 @F)T4KH 1 x 1 |U-12 @FKEFYA—X =3 =3

9 | 1320 |U-12DFEFz)—X 1 x 0 |U-12 @FCViso = H

10| 1400 |U-12 @QEMEFYH—X 5 X 0 |U-12Q@F)T+XKH - A

1] 1440 |U-12@FKEFYA—X 1 X 1 |u-12 @=FFz)—X Viso | Viso
12| 15:30 A = 2

%11:30~12:00 BIKA. U-12UPEFH]

U-10 10-5-10

U-12  15-5-15

28H F—LHE

U-10 OEMEFYH—XLF QFKEFYH—X QTUT(4 KA @FzFLHH—ILX BFF)—>
U-12 @FFz)—X QEMEFVA—IXKF Q@IJUT4KH @FCViso GFKAEFYA—X
X U-10[FHERTH& FSUFRMITRERZTS



[ U—-12 B Bt % ]

FFr)—X | ®EmEFyH—X | TYT4KHA FCViso FkExron—X| B | o BR | B8R | KR | 8K | B
X @) @) A
=Fr)—X 1 S s R L e e AL CLELLERELL R 2 1 7 6 6 0 2
1 — 33 — 2|1 — 0|1 — 1
@) @) @) A
EMTEFyH—R PO prememmmeeeemmee e 3 1 10 | 14 2 12 1
3 = 1 5 — 0|5 — o1 — 1
X X @) A
PULEON:: 2 S R EO T LRI EEIE 1 1 4 5 9 -4 4
2 — 3|0 — 5 2 — 0|1 = 1
X X X X
FCViso oo freeememeeeenees 0 0 0 0 " [-11| 5
o — 1|0 — 5|0 — 2 o — 3
A A A O
BAKEFIN—K | ————pr-eeeereeeeenee pre e ¥ 1 3 6 6 3 3 3
T - 11 = 11 = 1|13 = 0




[ uU—10

B K x® ]

EMEFXYH—X | FRkEFvH—X | TUT4KA | FbH—ALX | £FFz)—X | B | » e | §R | KA | /K | IR
O O O O
RMFEFyh—X L S e B B E e LR E 4 0 12 9 0 0 1
2 — 0|1 — 0|5 — O|1 — O
X O O @)
FKEFVH—X QRN TTTEETTEETLIRITEEY TREPTIETTERPTEETtY ERCEEETCEPLeEE e 3 0 9 13 2 11 2
0o — 2 8 — 0|4 — 0|1 — 0
X X A A
T T4 KH Yoo [ 0 2 2 1 10 | -9 4
o — 1[0 — 8 0o — o1 — 1
X X A A
F=FEADA—ILZ 2~ G R 0 1 1 1 12 | -1 5
0 — 5[0 — 4|0 — O 1 = 1
X X A O
FFIV—RX | frrreeeeeeeeespereseeeeeeeees Y 1 1 4 4 4 0 3
o — 1|0 — 1|1 — 1]3 — 1




